FORM XIII

See Rule 75

## Register of Workmen Employed by Contractor

Name and Address of Contractor

Smart Data Processing Services Pvt. Ltd., 72, Janpath, Delhi

Nature and location of work Attendant - ATPM Machine, New Delhi

Name and Address of Establishment in/under which contract is carried on

TPDDL - Kingsway Camp, Delhi

Name and Address of Principal Employer

TPDDL - Kingsway Camp, Delhi

4					Permanent Home Address of						
				Nature of	workman (Village and		Date of	Signature of thumb	Date of		1
SI.	Name and surname	Age and	Father's/	Employment /	Tahsil/Taluk and District)		commencement of	impression of	termination of	Reasons of	1
No.	of workman	Sex	Husband's name	Designation	Turisii, Turuk aria District,	Local Address	employment	workman	employment	termination	Remarks
1	2	3	Δ	5	6	7	8	9	10	11	12
	Manish Kumar	М	mahender Kr. Sharma	ATPM Operator	18/49 Basnt ngr Kishangang Delhi-7	18/49 Basnt ngr Kishangang Delhi-7	01/04/2008				
2	Pardeep Kumar Sishodhiya		Shri. Ram Bhaj	ATPM Operator	Village Home Puttthkhurd	Village Home Puttthkhurd	01/04/2008				
3	Sanjay Kumar	M	Shri. Ram Niwas	ATPM Operator	I-Block FF-1237 Jahagirpuri	I-Block FF-1237 Jahagirpuri	01/04/2008				
4	Dhunni	M	Shri Mahadev	ATPM Operator	c-10, 44 Sultanpuri Delhi-86	c-10, 44 Sultanpuri Delhi-86	01/04/2008				
5	Inderpal Singh	M	Shri. Radhey Charan	ATPM Operator	H-494 Mangolpuri Delhi-83	H-494 Mangolpuri Delhi-83	01/04/2009				
6	Suraj	M	Shri. Ram Niwas	ATPM Operator	I-Block FF-1237 Jahagirpuri	I-Block FF-1237 Jahagirpuri	01/04/2008				
7	Kishan Lal	M	Shri. Mangi Lal	ATPM Operator	c-152 Shakurpur JJ Colony Delhi-34	c-152 Shakurpur JJ Colony Delhi-34	14/06/2011				
8	Deepak Rana	M	Shri.Sunil Kumar Rana	ATPM Operator	Vihar Samypuri Badli Delhi-42	Vihar Samypuri Badli Delhi-42	01/01/2011				
9	Pawan Kumar	M	Shri . Jaiprakash	ATPM Operator	9725/8, Katra nanakchand Kishan Ganj	9725/8, Katra nanakchand Kishan Ganj	01/01/2012				
10	Mukul	M	shri. Suraj	ATPM Operator	wala mohala Badli Delhi-42	wala mohala Badli Delhi-42	02/05/2012				
11	Rajesh	M	Shri. Sukh Lal	ATPM Operator	135, c-Block Shakur Pur JJ Colony Delhi-34	135, c-Block Shakur Pur JJ Colony Delhi-34	11/06/2012				
12	Heera Lal	M	Shri. Mohal Pal	ATPM Operator	164, c-Block Shakur Pur Delhi-34	164, c-Block Shakur Pur Delhi-34	10/09/2012				
13	Ravi Kumar Sharma	M	Mohan Lal sharma	ATPM Operator	d1557 shatri nagr delhi-52	d1557 shatri nagr delhi-52	08/03/2013				
14	Rakesh Khatri	M	Rai Singh	ATPM Operator	434/1, Jatwara, Sonepat, Haryana -131001	434/1, Jatwara, Sonepat, Haryana -131001	01/06/2014				
15	Omveer singh	M	Shri. Radhey Charan	ATPM Operator	H-494 Mangolpuri Delhi-83	H-494 Mangolpuri Delhi-83	10/01/2014				
16	Parveen kumar	M	Ram niwash	ATPM Operator	Vill. Shamrara tahashil isharana Panipat (HR) 132160	Vill. Shamrara tahashil isharana Panipat (HR) 132160	07/01/2015				
17	Ajay Pawar	M	Damodar Parshad	ATPM Operator	2646, Mandir Wali Gali Shadipur Delhi-110008	2646, Mandir Wali Gali Shadipur Delhi-110008	07/10/2015				
18	Mukesh Chand	M	Jai Pal	ATPM Operator	H.No.168, Gali No.5, B Block Parwati Achal Sant Naga	H.No.168, Gali No.5, B Block Parwati Achal Sant Nagar I	08/04/2015				
19	Subhash	M	Ram Avtar	ATPM Operator	D1/450, Bhalaswa Resisted Colony Delhi-42	D1/450, Bhalaswa Resisted Colony Delhi-42	17/8/2015				
20	Kamal Dev	M	Yogender Singh	ATPM Operator	A 712 Agar Nagar Prem Nager-3, Kirari Suleman NgrD	A 712 Agar Nagar Prem Nager-3, Kirari Suleman NgrDel	08/01/2014				
21	Vijay	M	Kunwar Pal	ATPM Operator	N 15 Budh vihar P-II Sharma Colony Delhi-86	N 15 Budh vihar P-II Sharma Colony Delhi-86	19/10/2015				
22	Lalit	M	Dilbagh Singh	ATPM Operator	1364/9 Kami Road Near Shankar Kui Sonepat-131001	1364/9 Kami Road Near Shankar Kui Sonepat-131001	26/10/2015				
23	Lokesh Kumar Bharati	M	Ashok Kumar	ATPM Operator	E-2/457 Nand Nagri Delhi-93	E-2/457 Nand Nagri Delhi-93	11/01/2015				
24	Jai Prakash	M	Sua lal	ATPM Operator	G 310 Sultanpuri Delhi-86	G 310 Sultanpuri Delhi-86	11/07/2015				
25	Gaurav Kumar	М	Panni Ram	ATPM Operator	M-10/ B-3, Dilshad Garden, Delhi-110095	M-10/ B-3, Dilshad Garden, Delhi-110095	03/12/2016				
26	Manpal Singh	M	Keval Ram	ATPM Operator	128, Prem Wati Shasti Nagar Delhi-52	128, Prem Wati Shasti Nagar Delhi-52	22/3/2016				
27	Manoj kumar	М	Kishor Kumar	ATPM Operator	A-4/27 Veena Enclave Nangloi Delhi-41	A-4/27 Veena Enclave Nangloi Delhi-41	04/01/2016				
28	Deepak Chawla	M	Sh. Gajinder Kumar Chaw	ATPM Operator	H.NoRZ -2-C South Ext-Part-II,Gali No-5 Suker Bazar	H.NoRZ -2-C South Ext-Part-II, Gali No-5 Suker Bazar, L	05/04/2016				
29	Anil kumar	М	Sh. Jamuna Lal	ATPM Operator	H.NO-492 BLOCK-B SHAHBAD DAIRY DELHI-110042	H.NO-492 BLOCK-B SHAHBAD DAIRY DELHI-110042	18/5/2016				

Aug-16

FORM XVI

See Rule 78(a)(i)

**Muster Roll** 

## Name and address of Contractor

Name and address of establishment in/under which contract is carried on

Smart Data Processing Services Pvt. Ltd., 72, Janpath, New Delhi Smart Data Processing Service TPDDL- Kingsway Camp, Delhi

Name and address of Principal Employer

TPDDL- Kingsway Camp, Delhi

Nature and location of work Attendant - ATPM Machine, New Delhi For the month of Aug-16

		Father's/																																	
SI.		Husband's																		ates															Remarks
No.	Name of workman	Name	Sex	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24	25	26	27	28	29	30	31	
1	Manish Kumar		M	Р	Р	Р	Р	Р	Р	S	Р	Р	Р	Р	Р	Р	S	Р	Р	L	L	L	L	S	L	L	L	L	L	L	S	L	L	L	
2	Pardeep Kumar																																		
	Sishodhiya		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
3	Sanjay Kumar		M	L	L	L	L	L	Р	U	Р	Р	Р	Р	Р	Р	U	Р	Р	Р	Р	Р	Р	U	•	Р		Р	Р	Р	U	Р	Р	Р	
4	Dhunni		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
5	Inderpal Singh		M	L	Р	Р	Р	Р	Р	N	Р	Р			Р	Р	N	Р	Р	Р	Р	Р		••		Р	Р	Р	Р	Р	N	Р	Р	Р	
	Suraj		M	Р	Р	Р	Р	Р	Р		Р	Р	Р		Р	Р		Р	Р	Р	Р	Р	Р		•	Р	Р	Р	Р	Р		Р	Р	Р	
	Kishan Lal		M	L	L	L	L	L	L	D	L	L	Р	Р	Р	Р	D	Р	Р	Р	Р	Р	Р	١.		Р	Р	Р	Р	Р	D	Р	Р	Р	
	Deepak Rana		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р			Р	Р	Р	Р	Р		Р	Р	Р	
9	Pawan Kumar		M	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	
10	Mukul		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
11	Rajesh		M	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	
12	Heera Lal		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
	Ravi Kumar Sharma		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
14	Rakesh Khatri				Р	Р	Р	Р	Р		Р	Р	Р	Р	L	L		Р	Р	Р	Р	Р	Р		Р	Ρ	Р	Р	Р	Р		Р	Р	Р	
15	Omveer singh		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р			Ρ	Р	Р	Р	Р		Р	Р	Р	
16	Parveen kumar		М	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Ρ	Р	Р	Р	Р		Р	Р	Р	
17	Ajay Pawar		M	Р	Р	Р	Р	Р	Р		L	L	L	L	L	L		L	L	L	L	L	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
18	Mukesh Chand		М	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Ρ	Р	Р	Р	Р		Р	Р	Р	
19	Subhash		М	Р	Р	Р	Р	Р	Р	S	Р	Р	Р	Р	Р	Р	S	Р	Р	Р	Р	Р	Р	S	Р	Ρ	Р	Р	Р	Р	S	Р	Р	Р	
20	Kamal Dev		M	Р	Р	Р	L	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
21	Vijay		М	Р	Р	Р	Р	Р	Р	U	Р	Р	Р	Р	Р	Р	U	Р	Р	Р	Р	Р	Р	כ	Р	Ρ	Р	Р	Р	Р	U	Р	Р	Р	
22	Lalit			Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Ρ	Р	Р	Р	Р		Р	Р	Р	
23	Lokesh Kumar Bharati		M	Р	Р	Р	Р	Р	Р	N	Р	Р	Р	Р	Р	Р	N	Р	Р	Р	Р	Р	Р	Ν	Р	Р	Р	Р	Р	Р	N	Р	Р	Р	
24	Jai Prakash		M	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
25	Gaurav Kumar		M	Р	Р	Р	Р	Р	Р	D	Р	Р	Р	Р	Р	Р	D	Р	Р	Р	Р	Р	Р	D	Р	Р	Р	Р	Р	Р	D	Р	Р	Р	
26	Manpal Singh		М	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
27	Manoj kumar		M	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	Р	Р	Р	Α	Р	Р	Р	
28	Deepak Chawla		М	Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	Р	Р	Р		Р	Р	Р	
29	Anil kumar		M	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	Р	Р	Р	Υ	Р	Р	Р	

See Rule 78(1)(a)(i)

Register of Wages

Name and address of Contractor

Smart Data Processing Services Pvt. Ltd., 72, Janpath, New Delhi

## Name and address of establishment in/under which contract is carried on

TPDDL - Kingsway Camp, Delhi

## Name and address of Principal Employer

TPDDL - Kingsway Camp, Delhi

Nature and location of work Attendant - ATPM Machine, New Delhi Wage period: Month - Aug-16

Si. No. in the register   Designation   Si. No. of the register   Designation   Si. No. of the register   Designation   Si. No. of nature of nat								Amount of wages earned								
No.   Name of workman											Other cash		Ť			Initial of
No.   Name of workman   Name			SI. No. in								payments		Deductions.			contractor
State   No.   No.   Name of Workman   Nowtomen   No.   Name of Workman   Nowtomen   No				Designation/	No. of	Units of	Daily-rate of	Daily-rate of	Dearness							
No.   Name of workman   workmen   work done   worked   done   rate   ste   ste   ste   ste   be indicated)   Total   nature   paid   of workman   tive   1	SI.										,			Net amount	Signature/Thumbimpression	
1   Manish Kumar   1   16   341   5,462.00   -   558.00   6,020.00   499.00   5,521.00   Tid to bank account		Name of workman	workmen	work done						Overtime		Total				1 '
Pardeep Kumar   2   31   341   10,582,00   .   .   .   .   .   .   .   .   .	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16
A   Sishodhiya   A   31   341   10,582.00	1	Manish Kumar	_		16		341	5,462.00	-					5,521.00	_	
A   Sishodhiya   A   31   341   10,582.00		Pardeep Kumar	_											,		
A   Dhumi	2		2		31		341	10,582.00	-	-	1,082.00	11,664.00	965.00	10,699.00	Tfd to bank account	
5	3	Sanjay Kumar	3		27		341	9,217.00	-	-	942.00	10,159.00	840.00	9,319.00	Tfd to bank account	
6 Sumi 6 31 341 10,582.00 1,082.00 11,664.00 965.00 10,699.00 Tel to bank account   8 Deepak Rana 8 31 341 10,582.00 - 1,082.00 11,664.00 965.00 10,699.00 Tel to bank account   9 Pawan Kumar 9 31 341 10,582.00 - 1,082.00 11,664.00 965.00 10,699.00 Tel to bank account   10 Mukl 10 31 341 10,582.00 - 1,082.00 11,664.00 965.00 10,699.00 Tel to bank account   11 Rajish 11 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tel to bank account   12 Heera Lal 12 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tel to bank account   13 Ravi Kumar Sharma 13 31 341 10,582.00 - 4,992.00 15,574.00 977.00 10,687.00 Tel to bank account   14 Rakesh Khatri 14 31 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tel to bank account   15 Omveer singh 15 31 341 10,582.00 - 1,382.00 11,664.00 977.00 10,687.00 Tel to bank account   16 Parveen kumar 16 31 341 10,582.00 - 1,382.00 11,664.00 977.00 10,687.00 Tel to bank account   17 Ajay Pawar 17 21 341 7,168.00 - 733.00 7,901.00 465.00 10,999.00 Tel to bank account   18 Muksch Chand 18 31 341 10,582.00 - 1,082.00 11,664.00 965.00 10,999.00 Tel to bank account   18 Muksch Chand 18 31 341 10,582.00 - 733.00 7,901.00 465.00 10,999.00 Tel to bank account   18 Muksch Chand 18 31 341 10,582.00 - 733.00 7,901.00 465.00 10,999.00 Tel to bank account   19 Subhash 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tel to bank account   19 Subhash 19 31 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tel to bank account   20 Kamal Dev 20 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tel to bank account   21 Lalit 22 33 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tel to bank account   22 Lalit 22 33 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tel to bank account   23 Lokesh Kumar Bharat 23 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tel to bank account   24 Lajir Parksch 24 33 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tel to bank account   25 Gaurav Kumar 25 33 341 10,582.00 - 1,082.00 11,664.00 693.00 11,971.00 Tel to bank	4	Dhunni	4		31		341	10,582.00	-	-	1,082.00	11,664.00	965.00	10,699.00	Tfd to bank account	
7   Kishan Lal   7   23   341   7,851.00   - 803.00   8,654.00   716.00   7,938.00   Tid to bank account	5	Inderpal Singh	5		31		341	10,582.00	-	-	1,082.00	11,664.00	965.00	10,699.00	Tfd to bank account	
8 Depak Rana 8 31 341 10,582.00 - 1,082.00 11,664.00 965.00 10,699.00 Tfd to bank account 9 Pawan Kumar 9 31 341 10,582.00 - 1,082.00 11,664.00 955.00 10,699.00 Tfd to bank account 110 Mukul 10 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tfd to bank account 111 Rajesh 111 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tfd to bank account 112 Heera Lal 12 31 341 10,582.00 - 4,992.00 15,574.00 977.00 10,687.00 Tfd to bank account 113 Rajesh 114 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tfd to bank account 114 Rajesh 115 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tfd to bank account 115 Omveer singh 15 31 341 10,582.00 - 1,382.00 11,664.00 977.00 10,687.00 Tfd to bank account 115 Omveer singh 15 31 341 10,582.00 - 3,542.00 11,664.00 977.00 10,687.00 Tfd to bank account 116 Parveen kumar 16 31 341 10,582.00 - 3,542.00 11,664.00 965.00 10,991.00 Tfd to bank account 117 Ajap Pawar 117 21 341 71,680.00 - 733.00 7,901.00 469.00 7,901.00 Tfd to bank account 118 Mukesh Chand 18 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 118 Mukesh Chand 18 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 119 Subhash 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 119 Subhash 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 121 Vijay 21 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 122 Lailt 22 31 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 124 Lailt 22 31 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 124 Lailt 22 31 31 341 10,582.00 - 1,382.00 11,664.00 693.00 10,971.00 Tfd to bank account 125 Gaurav kumar 25 31 341 10,582.00 - 1,382.00 11,664.00 693.00 11,271.00 Tfd to bank account 125 Gaurav kumar 27 31 341 10,582.00 - 1,382.00 11,664.00 693.00 11,260.00 Tfd to bank account 126 Manapal Singh 26 33 31 341 10,582.00 - 1,382.00 11,664.00 693.00 11,260.00 Tfd to bank account 126 Manapal Singh 2	6	Suraj	6		31		341	10,582.00	-	-	1,082.00	11,664.00	965.00	10,699.00	Tfd to bank account	
9 Pawan Kumar 9 31 341 10,582.00 - 1,082.00 11,664.00 965.00 10,699.00 Tfd to bank account 10 Mukul 10 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tfd to bank account 11 Rightsh 11 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tfd to bank account 11 Rightsh 11 31 341 10,582.00 - 1,082.00 11,664.00 977.00 10,687.00 Tfd to bank account 11 Rightsh 12 31 341 10,582.00 - 1,082.00 11,574.00 977.00 14,597.00 Tfd to bank account 11 Rightsh 13 341 10,582.00 - 1,082.00 11,664.00 977.00 14,597.00 Tfd to bank account 11 Rightsh 14 31 341 10,582.00 - 1,382.00 11,664.00 977.00 10,687.00 Tfd to bank account 11 Rightsh 15 31 341 10,582.00 - 1,382.00 11,964.00 965.00 10,999.00 Tfd to bank account 11 Rightsh 15 31 341 10,582.00 - 3,542.00 14,124.00 965.00 13,159.00 Tfd to bank account 11 Rightsh 15 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 11 Rightsh 15 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 11 Rightsh 16 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 11 Rightsh 16 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 11 Rightsh 16 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 11 Rightsh 17 Rightsh 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 12 Rightsh 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 12 Rightsh 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 12 Rightsh 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 12 Rightsh 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 12 Rightsh 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 12 Rightsh 19 Rightsh 19 31 341 10,582.00 - 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 12 Rightsh 19 R	7	Kishan Lal	7		23		341	7,851.00	-	-	803.00	8,654.00	716.00	7,938.00	Tfd to bank account	
10   Mukul   10   31   341   10,582.00   -   -   1,082.00   11,664.00   977.00   10,687.00   Tfd to bank account     11   Rajesh   11   31   341   10,582.00   -   -   1,082.00   11,664.00   977.00   14,597.00   Tfd to bank account     12   Heera Lal   12   31   341   10,582.00   -   -   1,082.00   11,664.00   977.00   14,597.00   Tfd to bank account     13   Ravi Kumar Sharma   13   341   10,582.00   -   -   1,082.00   11,664.00   977.00   10,687.00   Tfd to bank account     14   Rakesh Khatri   14   31   341   10,582.00   -   -   1,382.00   11,964.00   965.00   10,999.00   Tfd to bank account     15   Omveer singh   15   31   341   10,582.00   -   -   1,082.00   14,124.00   965.00   10,999.00   Tfd to bank account     16   Parveen kumar   16   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account     17   Ajay Pawar   17   21   341   7,168.00   -   -   7,33.00   7,901.00   469.00   7,432.00   Tfd to bank account     18   Mukesh Chand   18   31   341   10,582.00   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account     19   Subhash   19   31   341   10,582.00   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account     20   Kamal Dev   20   31   341   10,582.00   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account     21   Vijay   21   31   341   10,582.00   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account     22   Lalit   22   33   341   10,582.00   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account     24   Jai Prakash   24   31   341   10,582.00   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account     25   Gaurav Kumar   25   31   341   10,582.00   -   1,337.00   11,919.00   693.00   10,971.00   Tfd to bank account     26   Manpal Singh   26   31   341   10,582.00   -   1,337.00   11,919.00   693.00   10,971.00   Tfd to bank account     27   Manoj Kumar   29   31   341   10,582.00   -   1,337.00   11,919.00   693.00   10,971.00   Tfd to bank account     28   Deepak Chaw	8	Deepak Rana	8		31		341	10,582.00	-	-	1,082.00	11,664.00	965.00	10,699.00	Tfd to bank account	
11   Rajesh   11   31   341   10,582.00   -   -   1,082.00   11,664.00   977.00   10,687.00   Tid to bank account     12   Heera Lal   12   31   341   10,582.00   -   -   4,992.00   15,574.00   977.00   14,597.00   Tid to bank account     13   Ravi Kumar Sharma   13   341   10,582.00   -   -   1,082.00   11,664.00   977.00   10,687.00   Tid to bank account     14   Rakesh Khatri   14   31   341   10,582.00   -   -   1,382.00   11,964.00   965.00   10,999.00   Tid to bank account     15   Omver singh   15   31   341   10,582.00   -   -   1,082.00   11,664.00   965.00   13,159.00   Tid to bank account     16   Parveen kumar   16   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     17   Ajay Pawar   17   21   341   7,168.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     18   Mukesh Chand   18   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     20   Kamal Dev   20   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     21   Vijay   21   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     21   Vijay   21   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     22   Lalit   22   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     23   Lokesh Kumar Bharat   23   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     24   Jai Prakash   24   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tid to bank account     25   Gauvar Kumar   25   31   341   10,582.00   -   -   1,337.00   11,919.00   693.00   11,226.00   Tid to bank account     26   Manpal Singh   26   31   341   10,582.00   -   -   1,337.00   11,919.00   693.00   11,226.00   Tid to bank account     27   Manoj kumar   27   31   341   10,582.00   -   -   1,337.00   11,919.00   693.00   11	9	Pawan Kumar	9		31		341	10,582.00	-	-	1,082.00	11,664.00	965.00	10,699.00	Tfd to bank account	
12   Hera Lal   12   31   341   10,582.00   -   4,992.00   15,574.00   977.00   14,597.00   Tfd to bank account	10	Mukul	10		31		341	10,582.00	-	-	1,082.00	11,664.00	977.00	10,687.00	Tfd to bank account	
13   Ravi Kumar Sharma   13   341   10,582.00   -   -   1,082.00   11,664.00   977.00   10,687.00   Tfd to bank account	11	Rajesh	11		31		341	10,582.00	-	-	1,082.00	11,664.00	977.00	10,687.00	Tfd to bank account	
Ravi Kumar Sharma	12	Heera Lal	12		31		341	10,582.00	-	-	4,992.00	15,574.00	977.00	14,597.00	Tfd to bank account	
Ravi Kumar Sharma	42		42				244	40 502 00								
15	13	Ravi Kumar Sharma	13		31		341	10,582.00	-	-	1,082.00	11,664.00	977.00	10,687.00	Tfd to bank account	
16         Parveen kumar         16         31         341         10,582.00         -         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           17         Ajay Pawar         17         21         341         7,168.00         -         -         733.00         7,901.00         469.00         7,432.00         Tfd to bank account           18         Mukesh Chand         18         31         341         10,582.00         -         -         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           19         Subhash         19         31         341         10,582.00         -         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           20         Kamal Dev         20         31         341         10,582.00         -         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           21         Vijay         21         31         341         10,582.00         -         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           22         Lalit         22         31         341	14	Rakesh Khatri	14		31		341	10,582.00	-	-	1,382.00	11,964.00	965.00	10,999.00	Tfd to bank account	
17         Ajay Pawar         17         21         341         7,168.00         -         -         733.00         7,901.00         469.00         7,432.00         Tid to bank account           18         Mukesh Chand         18         31         341         10,582.00         -         -         1,082.00         11,664.00         693.00         10,971.00         Tid to bank account           19         Subhash         19         31         341         10,582.00         -         -         1,082.00         11,664.00         693.00         10,971.00         Tid to bank account           20         Kamal Dev         20         31         341         10,582.00         -         -         1,082.00         11,664.00         693.00         10,971.00         Tid to bank account           21         Vijay         21         31         341         10,582.00         -         -         1,082.00         11,664.00         693.00         10,971.00         Tid to bank account           22         Lalit         22         31         341         10,582.00         -         -         1,382.00         11,664.00         693.00         10,971.00         Tid to bank account           24         Jai Prakash	15	Omveer singh	15		31		341	10,582.00	-	-	3,542.00	14,124.00	965.00	13,159.00	Tfd to bank account	
18 Mukesh Chand 18 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 ffd to bank account 19 Subhash 19 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 ffd to bank account 20 Kamal Dev 20 31 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 ffd to bank account 21 Vijay 21 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 ffd to bank account 22 Lalit 22 31 31 341 10,582.00 1,382.00 11,964.00 693.00 11,271.00 ffd to bank account 23 Lokesh Kumar Bharat 23 31 341 10,582.00 1,082.00 11,664.00 693.00 11,271.00 ffd to bank account 24 Jai Prakash 24 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 ffd to bank account 25 Gaurav Kumar 25 31 31 341 10,582.00 1,082.00 11,664.00 693.00 13,871.00 ffd to bank account 26 Manpal Singh 26 31 341 10,582.00 1,337.00 11,919.00 693.00 10,971.00 ffd to bank account 27 Manoj kumar 27 31 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 28 Deepak Chawla 28 31 341 10,582.00 1,337.00 11,919.00 693.00 10,971.00 ffd to bank account 29 Anil kumar 29 31 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 1,337.00 11,919.00 693.00 11,226.00 ffd to bank account 341 10,582.00 -	16	Parveen kumar	16		31		341	10,582.00	-	-	1,082.00	11,664.00	693.00	10,971.00	Tfd to bank account	
19 Subhash 19 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 Cheque Issued 20 Kamal Dev 20 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 21 Vijay 21 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 22 Lalit 22 31 31 341 10,582.00 1,382.00 11,664.00 693.00 11,271.00 Tfd to bank account 23 Lokesh Kumar Bharat 23 31 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 24 Jai Prakash 24 31 341 10,582.00 1,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 25 Gaurav Kumar 25 31 31 341 10,582.00 31,082.00 31,082.00 11,664.00 693.00 10,971.00 Tfd to bank account 31 341 10,582.00 31,082.00 11,	17	Ajay Pawar	17		21		341	7,168.00	-	-	733.00	7,901.00	469.00	7,432.00	Tfd to bank account	
20   Kamal Dev   20   31   341   10,582.00   -   -   1,082.00   11,664.00   693.00   10,971.00   Tfd to bank account	18	Mukesh Chand	18		31		341	10,582.00	-	-	1,082.00	11,664.00	693.00	10,971.00	Tfd to bank account	
21         Vijay         21         31         341         10,582.00         -         -         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           22         Lalit         22         31         341         10,582.00         -         -         1,382.00         11,964.00         693.00         11,271.00         Tfd to bank account           23         Lokesh Kumar Bharat         23         31         341         10,582.00         -         -         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           24         Jai Prakash         24         31         341         10,582.00         3,982.00         14,564.00         693.00         13,871.00         Tfd to bank account           25         Gaurav Kumar         25         31         341         10,582.00         1,082.00         11,664.00         693.00         10,971.00         Tfd to bank account           26         Manpal Singh         26         31         341         10,582.00         -         -         1,337.00         11,919.00         693.00         11,226.00         Tfd to bank account           27         Manoj kumar         27         31         34	19	Subhash	19		31		341	10,582.00	-	-	1,082.00	11,664.00	693.00	10,971.00	Cheque Issued	
22       Lalit       22       31       341       10,582.00       -       -       1,382.00       11,964.00       693.00       11,271.00       Tfd to bank account         23       Lokesh Kumar Bharati       23       31       341       10,582.00       -       -       1,082.00       11,664.00       693.00       10,971.00       Tfd to bank account         24       Jai Prakash       24       31       341       10,582.00       3,982.00       14,564.00       693.00       13,871.00       Tfd to bank account         25       Gaurav Kumar       25       31       341       10,582.00       1,082.00       11,664.00       693.00       10,971.00       Tfd to bank account         26       Manpal Singh       26       31       341       10,582.00       -       1,337.00       11,919.00       693.00       11,226.00       Tfd to bank account         27       Manoj kumar       27       31       341       10,582.00       1,082.00       11,664.00       693.00       11,226.00       Tfd to bank account         28       Deepak Chawla       28       31       341       10,582.00       -       1,082.00       11,664.00       693.00       10,971.00       Tfd to bank account	20	Kamal Dev	20		31		341	-,	-	-	1,082.00	11,664.00	693.00	10,971.00	Tfd to bank account	
23     Lokesh Kumar Bharat     23     31     341     10,582.00     -     -     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       24     Jai Prakash     24     31     341     10,582.00     3,982.00     14,564.00     693.00     13,871.00     Tfd to bank account       25     Gaurav Kumar     25     31     341     10,582.00     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       26     Manpal Singh     26     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       27     Manoj kumar     27     31     341     10,582.00     11,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       28     Deepak Chawla     28     31     341     10,582.00     11,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       29     Anil kumar     29     31     341     10,582.00     -     13,337.00     11,919.00     693.00     10,971.00     Tfd to bank account	21	Vijay	21		31		341		-	-	1,082.00	11,664.00	693.00	10,971.00	Tfd to bank account	
24     Jai Prakash     24     31     341     10,582.00     3,982.00     14,564.00     693.00     13,871.00     Tfd to bank account       25     Gaurav Kumar     25     31     341     10,582.00     -     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       26     Manpal Singh     26     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       27     Manoj kumar     27     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       28     Deepak Chawla     28     31     341     10,582.00     -     -     1,387.00     11,919.00     693.00     10,971.00     Tfd to bank account       29     Anil kumar     29     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     10,971.00     Tfd to bank account	22	Lalit	22		31		341	10,582.00	-	-	1,382.00	11,964.00	693.00	11,271.00	Tfd to bank account	
25     Gaurav Kumar     25     31     341     10,582.00     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       26     Manpal Singh     26     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       27     Manoj kumar     27     31     341     10,582.00     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       28     Deepak Chawla     28     31     341     10,582.00     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       29     Anil kumar     29     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account	23	Lokesh Kumar Bharati	23		31		341	10,582.00	-	-	1,082.00	11,664.00	693.00	10,971.00	Tfd to bank account	
26     Manpal Singh     26     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       27     Manoj kumar     27     31     341     10,582.00     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       28     Deepak Chawla     28     31     341     10,582.00     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       29     Anil kumar     29     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account	24	Jai Prakash	24		31		341	10,582.00			3,982.00	14,564.00	693.00	13,871.00	Tfd to bank account	
27     Manoj kumar     27     31     341     10,582.00     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account       28     Deepak Chawla     28     31     341     10,582.00     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       29     Anil kumar     29     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account	25	Gaurav Kumar	25		31		341	10,582.00			1,082.00	11,664.00	693.00	10,971.00	Tfd to bank account	
28     Deepak Chawla     28     31     341     10,582.00     1,082.00     11,664.00     693.00     10,971.00     Tfd to bank account       29     Anil kumar     29     31     341     10,582.00     -     -     1,337.00     11,919.00     693.00     11,226.00     Tfd to bank account	26	Manpal Singh	26		31		341	10,582.00	-	-	1,337.00	11,919.00	693.00	11,226.00	Tfd to bank account	
29 Anil kumar 29 31 341 10,582.00 - 1,337.00 11,919.00 693.00 11,226.00 Tfd to bank account	27	Manoj kumar	27		31		341	10,582.00			1,337.00	11,919.00	693.00	11,226.00	Tfd to bank account	
7,700 - 7,700 -	28	Deepak Chawla	28		31		341	10,582.00			1,082.00	11,664.00	693.00	10,971.00	Tfd to bank account	
862 294,248.00 40,721.00 334,969.00 23,161.00 311,808.00	29	Anil kumar	29		31		341	10,582.00	-	-	1,337.00	11,919.00	693.00	11,226.00	Tfd to bank account	
						294,248.00	-	-	40,721.00	334,969.00	23,161.00	311,808.00				

See Rule 78(1)(a)(ii)

## Register of Deductions for Damage or Loss

Name and Address of Contractor

Smart Data Processing Services Pvt. Ltd., 72, Janpath, New Delhi

Nature and location of work Attendant - ATPM Machine, New Delhi

Name and Address of Establishment in/under which contract is carried on

TPDDL - Kingsway Camp, Delhi

Name and Address of Principal Employer

TPDDL - Kingsway Camp, Delhi

			Designation/				Name of person in whose	Amount of		Date of r	ecovery	
SI.		Father's/	nature of	damage or	Damage or	showed cause against	presence employee's	deduction	No. of	First	Last	ı
No.	Name of workman	Husband's name	employment	loss	loss	deduction	explanation was heard	imposed	instalments	instalment	Instalment	Remarks
1	2	3	4	5	6	7	8	9	10	11		12
					NIL							

See Rule 78(1)(a)(ii)

Register of Fines

Name and Address of Contractor

Smart Data Processing Services Pvt. Ltd., 72, Janpath, New Delhi

Nature and location of work Attendant - ATPM Machine, New Delhi

Name and Address of Establishment in/under which contract is carried on

TPDDL- Kingsway Camp, Delhi

Name and Address of Principal Employer

TPDDL- Kingsway Camp, Delhi

SI. No.	Name of workman	Father's/ Husband's name	Designation/ nature of employment	Act/Omission for which fine imposed	Date of offence	Whether workman showed cause against fine	Name of person in whose presence employee's explanation was heard	Wage periods and wages payable	Amount of fine imposed	Date on which fine realised	Remarks
1	2	3	4	5	6	7	8	9	10	11	12
					NIL						
											$\longmapsto$
											$\longmapsto$
											$\longmapsto$
											<b></b>

FORM XXII

See Rule 78(1)(a)(ii)
Register of Advances

#### Name and Address of Contractor

Smart Data Processing Services Pvt. Ltd., 72, Janpath, New Delhi

Nature and location of work Attendant - ATPM Machine, New Delhi

Name and Address of Establishment in/under which contract is carried on

TPDDL- Kingsway Camp, Delhi

Name and Address of Principal Employer

TPDDL- Kingsway Camp, Delhi

			Nature of			Purpose(s) for	No. of instalments by	No. of instalments of	Date on which	
SI.		Father's/		Wage period and	Date and amount	which	which advance to be	each	last instalment	
No.	Name	Husband's name	Designation		of advance given	advance made	repaid	instalment	was repaid	Remarks
1	2	3	4	5	6	7	8	9	10	11
			NIL							
						·				

FORM XXIII

See Rule 78(1)(a)(iii)

## **Register of Overtime**

Name and Address of Contractor

Smart Data Processing Services Pvt. Ltd., 72, Janpath, New Delhi

Nature and location of work Attende

Attendant - ATPM Machine, New Delhi

Name and Address of Establishment in/under which contract is carried on

TPDDL- Kingsway Camp, Delhi

Name and Address of Principal Employer

TPDDL- Kingsway Camp, Delhi

SI. No.	Name of workman 2	Father's/ Husband's name 3	Sex 4	Date and amount of advance given 6	Total overtime worked or production in case of piece-rated 7	Normal rates of wages 8	Overtime rate of wages 9	Overtime earnings 10	Date on which overtime wages paid 11	Remarks 11
				NIL						
				<u> </u>						<b></b>
										<del>                                     </del>
						-		-		